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vold Warning::setup() {
pinMode (Buzzer, OUTPUT);
H

vold Warning: :loop() {
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if (Temp < upp) Warning.pause();

else Warning.resume () ;
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BlinkerButton Button_unit ("UNIT");
BlinkerNumber Number temp ("temp"):;
BlinkerNumber Number humi ("humi™) ;
Blinkerslider Warn upper ("upp");
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void unit callback(const String & state) {
BELINEER LOG("get temp unit: ", state);

if {state == "unit") {
if (unit_c == 0)
unit Cc = 1;
else unit C = 0;

}
Button unit.print (state);
}

void get_upper(int32 t walue) {
ELINKER_LOG("get upper temp: ", wvalue);
upp = wvalue;

}
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Number temp.print (Temp) s
Number humi.print (Humi) ;
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